t61 int 1 (TMaRj-
JEND3mxyqWQpXtFwV4JVhirgjsotCm)

October 27, 2020

Let vl.int_1 : t=>0 be given. Let rl_zxreal 0 : t=>t=-0 be given. Let
k6_numbers : ¢ be given. Let k5_int_1 : t=-1=¢ be given. Let v7_ordinall : 1=0
be given. Let k5_numbers : ¢ be given. Let m1_subset_1 : t=1=>0 be given. Let
k4_ordinall : ¢ be given. Assume the following.

VXO0.(v7-ordinall X0)=(VX1.(v7_ordinall X1)=(rl_zzreal 0 (1)
k6_numbers (kb-int_.1 X0 X1)))

Assume the following.
VX0.(vlant 1 X0)=((rl-zzreal 0 k6_numbers X0)=-(X0 € k5_numbers))

Assume the following. 2
VX0.VX1.(X0 € X1)=(ml_subset.1 X0 X1) (3)

Assume the following.
kb_numbers = k4_ordinall (4)

Assume the following.
VX0.(ml_subset_-1 X0 kd_ordinall)=(v7-ordinall XO0) (5)

Theorem 1

VX0.(vlantl X0)=(VX1.(vlant.l X1)=(((rl-zxzreal-0
k6_numbers X0)A(rl_zxreal 0 k6_numbers X1))=(rl_zxreal 0 k6_numbers
(k5_int_1 X0 X1))))



